ﬂh Adding and Subtracting with Number Lines Name:

Use the numberlinesto solve each problem. Answers
1) 25+5=
10 20 30 40 1
2,
2) 30+10=
30 40
al 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 [ 3.
| T T T I T T T T I T T T T I T T T T I T T v
4.
3) 35-22=
20 30 40
al | I | | | | I | | | | I | | | | I | | | | I | | | | I | [ 5
| T I T T T T I T T T T I T T T T I T T T T I T T T T I T L
6.
4) 73-4=
50 60 70 80
44—4—H—I—H—4—H|—4—4—H—I—H—!—HI—!—!—!—!—I—H—!—HI—!—!—!—!—I—HH—!—» 7
5 9+7= 8.
10 20 30 40
ﬂ—i—i—H—I—i—Hi—Hl—i—i—H—I—i—i—Hﬁl—i—HH—l—Hﬁﬁﬁl—i—i—H—l—i—i—Hi—b 9
6) 58+2= 10.
60 70 80
al | I | | | | I | | | | I | | | | I | | | | I | | | | I | [
T T I T T T T I T T T T I T T T T I T T T T I T T T T I T L
7) 36-14=
20 30 40 50
AI 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I [
‘I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I L
8 78+1=
70 80 0
al 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 [
T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T L
9) 87-8=
60 70 80
10) 15+8=
10 20 30
al 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 [
T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T L
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ﬂh Adding and Subtracting with Number Lines Name: Answer Key

Use the numberlinesto solve each problem. Answers
1) 25+5=
10 20 30 40 . 30
5 40
2) 30+10=
30 40
4! | | | I | | | | I | | | | I | | | | I | | » 3 13
T T T T I T T T T I T T T T I T T T T I T T v
a 69
3) 35-22=
20 30 40
al ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] [ 5' 16
T T I T T T T I T T T T I T T T T I T T T T I T T T T I T v
6. 60
4) 73-4=
50 60 70 80
| | | | | | | 7. 22
8. 79
5 9+7=
10 20 30 40
! | ! | ! | ! | 9. 79
6) 584 2- 10. 23
60 70 80
al | I | | | | I | | | | I | | | | I | | | | I | | | | I | [
T T I T T T T I T T T T I T T T T I T T T T I T T T T I T v
7) 36-14=
20 30 40 50
AI | | | | I | | | | I | | | | I | | | | I | | | | I | | | | I »
‘I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I v
8 78+1=
70 80 90
a-l ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] ] [
T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T v
9) 87-8=
60 70 80
10) 15+8=
10 20 30
al ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] ] I ] ] ] b
T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T v
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